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SDT00006Q

0O -0038




0-0011

Y1A01140640 3

SPK210080018

0 -0039

Y1A0114163

Y1A011416401

3.3km

(

1.

6km )

SPK21000138

0O -0040

Y1A011416402

#0041

w0001

Y1A011416401




0-0012

SPK21000138

DI . 5km 3.0km )
0. 0 -0041
Y1A011416402
0.
#0041
w0001
0.
Y1A0107 2
1
Y1A0101013
1
Y1A010101401
10
SPK210080001
10 0 -0001

Y1A0101033




0-0013

( ) Y1LA010103401

C ) ' SPK2100000 4

0. 5m3 0O -0002

Y1A0107013

1
Y1LA01070 140 2
6 m3
SPK210@80015
( )
6 m3 0O -0005
Co (Co ) Y1LA0107033
1
Y1LA010703405
5 m?2
( ) SDT00080
18-8-40BB
5 m2 0O -0009
( ) Y1LA0107113




0-0014

Y1A010711405

25
( ) SPK210080054
25 0O -0042
Y1A010711407
ock=18N/ m2
3
_ SPK210@80056
18-8-40BB
3 0O -0043
Y1A01110 13
1
Y1A011101401
Gr-C-28B
8
(Gr) SS0001@28
- _Gr-C-28B
[ 121m
8 0O -0028
Y4999 4
1
4
1 vo010 O0O

0 -00209




0-0015

Y4999 4

voo11 0O

0O -0034

Y1A0111063

Y1A011106403

100mm 1

SPK210080227

0O -0035

RA(20) t=50mm

Y1L06081640 2

50mm

SPK21000234

0O -0036

Y1A0114013

Y1A011401401




0-0016

(Gr)

A, B, C(

2 m)

SS00010Q0

0O -0037

Y1A0114063

Y1A011406414

SDT00006Q

0O -0038

Y1A01140640 3

SPK210080018

0 -0039

Y1A0114163

Y1A011416401

3.3km

(

1

6km )

SPK21000138

0O -0040




0-0017

Y1A011416402

#0041

w0001

.. 2m

Y1A011416401

DI

. 5km

3.0km )

.. 2m

SPK21000138

0O -0041

.. 2m

Y1A011416402

#0041

w0001

Y1J01 1




0-0018

Y1J0101 2

1
Y1J0101043
1
Y1J010104419
4
(BH SHD100OG
4 0O -0044
SHD10OMAM
6 m
4 0O -0046
Y1J010104419
12
(BH SHD100OG
12 0O -0044
SHD10OMAM
6 m
12 0O -0046

Y1J0101063




0-0019

Y1J010106401

0 40
16
SHD100GT®
4 0O -0048
S10500060
0 40 ( m3/ h)
16 0O -0050
Y1J0101083
1
300 Y1J01010840 3
90
SPK21080080
200 400mm
300mm
90 0O -0053
Y1LA0101083
1
Y1A010108402
( )
20
SPK21080002
( )
DI D 13.0km (0. O0km )

20

0O -0004




0-0020

Y1A01010840 3

20

#0041

FOO0O00000O01
20

Y1J0101213
1

Y1J010121401
68

R0O369 00
68

#0020

Z0019




0-0021




0-0022




SPK21040001

( )
30.15% : 58.62% : 11.23%
( ) ( )
( )
2 30.15%
28/ 0.2m3 0
) (
58.62%
1.

, 2 4KL 11. 23%

m >
i

~N R




( ) SPK210400014 0O -0002
2.5m 1 m3
: 0. 78% 99. 01% : 0.21% 0. 00% 5,709
( ( ) ) (
> ( ) KTPC0O00QS8
0.8 1.1t 0. 78% [ ] KTPT000QS8
0. .1
RTPCO0O0O0Q2
90. 40% RTPT000Q2
RTPC000Q1
8. 61% RTPT000Q1
1. TTPCOOO113
, 2 4KL 0.21% TTPTO00O0113
EPOO1
A=1 5m




SPK21040024 0O -0003

) , 1 m2

10. 84% 79.28% : 9. 88% 0. 00% 783
( ( ) ( ) (
< > ( ) KTPC00O018
0. 8m3( 0.6) 10. 84 % KTPTO0O0O0O18
( 1,2,3 0. 8m3( 0. 6m3)

RTPC0O000(Q2
38.44% RTPT000(Q2
( ) ( RTPC0O000(Q6
21.93% RTPT000(Q6
RTPC0O00O0Q9
18. 91% RTPT000(Q9
1. TTPCO0O0O013
, 2 4KL 9. 88% TTPT00013

EPOO1

A=2 C=2
D=2 , E=1 - ( )




SPK21040002 0 -0004
( DI D 13.0km (10. 0km )
25. 95% 61.91% 12.14% 0.00%
( ) ( ) ( ) (
[ ] [ ]
4t 25. 95% 4t
( ( ) ) ( ( ) )
( ) ( )
61. 91%
1.2
, 2 4KL 12.14%
A=2 B=5 0. 28m3(
c=1 ( ) D=1 DI D
F=46 13.0km (10.,0km )

N~




SPK21040015

( )
22.07% : 70. 62 %
( ) ( )
( )
2 22.07%
0.28/ 0.2m3
( )
38.15%
32.47%
., 2 4KL 7.31%
A=1
E=1 - ( )




( ) SPK21040007 0 -0006
( ) 1 m3
30.15% 58.62% : 11.23% : 0.00% 982
( ( ) ( ) ( )
( ) ( ) MTPCO0O0OE]2
2 30.15% 2 MTPTO0O0O€{2
0.28/ 2 m3 0.28/ 0. 2m3
( ) ( ) RTPCOO0OO0(6®6
58. 62 % RTPT000(6
1.2 TTPCO0O0O0213
, 2 4KL 11.23% TTPT00013
EPOO1
A=1 B=4 ( )




0-0029
SPK21040048 0 -0007
18-8-40BB 1 m3
: 2. 58% 69.99% : 27.43% 0. 00% 66, 104
( ( ) ( ) (
< > ( ) KTPC0O000(Q6
0. 8m3( 0.6) 2.9t 1.82% [ KTPT000(Q6
( 1, 2, ( 2 ) 0.8m3 2.9t
< > ( ) KTPC00O018
0. 8m3( 0.6) 0. 76% KTPTO0O0O0O18
( 1,2,3 0. 8m3( 0. 6m3)
RTPC0O000(Q2
20. 83 % RTPT000(Q2
RTPCOOOJ0
20. 45% RTPTO0O0OZJ0
RTPC0O00O0Q9
9. 33% RTPT000(Q9
RTPC000(Q1
8. 7T0% RTPT000(Q1
( ) ( ) ERO0O0Y9
TTPCDOO1O0
18, 8, 40 22.52% 18-8-25(20) W C 60% TTPT000Q3
wCc(60 ), (
1.2 TTPCO0O0O013
, 2 4KL 1.42% TTPT00013




0-0030

SPK21040048 0 -0007
18-8-40BB 1 m3
: 2.58% : 69.99% : 27.43% : 0.00% 66, 104
( ) ( ) ( ) ( )
( ) ( ) EZOO09
E9999
A=2 18-8-40B8B c=1

D=1 ( ) E=1 -




0-0031
m2

-0008

0

(_m)
/I m2)

(

L0
— = O
Inmnnn
(s a [N [u {4

00 MmP2

.500
24 Mm3

0. 11m3
mQ2

1.
0.

SDT00039

18-8-40B8B
2kg
40

40

-<JI SA5371>
41.

/| m2

280x420x%x350,
5

8.

- N
nmnunnun
<OLWw—_ 4




0-0032
m2

-00009

0

SDT00039

18-8-40BB

8.

non
<O —

\)
N
S
—
Nt
N
1
n
N <
nmun
o ™ o m
& o a S
o o <
o n N
- o
A
—
N~
mn o m
N X m
<N o
w . <
| o 1
< < [eo)
\% '
' (oo}
—
o
n
™
X
o«
N E
< ~
X
ouwm — =N
(o]
N




( ) SPK21040044 0 -0010
RC- 40 1 m3
10.20% 65. 95% . 23.85% 0.00% 6,559
( ( ) ) (
< > ( ) KTPC000Q6
0.8m3( 0.6) .9t 10.20% [ ] KTPT000Q6
( 1,2,3 ( 0.8m3 2.9t
RTPC000Q?2
39.35% RTPT000(Q2
RTPC000Q1
15. 00 % RTPT000(Q1
C ) ( RTPC000Q6
11. 06 % RTPT000(Q6
C ) ( EROOO
TTPCOOO(S
40 0Omm 20.49% RC- 40 TTPTO0O0O0(S
1.2 TTPCOOO13
L2 4KL 3.36% TTPTO00013
EPOOL
A=1 B=1 RC- 40




0-0034
SPK21040044 0 -0010
RC- 40 1 m3
10. 20% : 65. 95% : 23.85% : 0.00% 6, 559

( ) ( ) ( ) ( )




SPK210400409 0 -0011

18-8-40BB 1 m3
: 3.15% 66. 15% 30.70% 0.00% 50, 89

( ) ( ) (
< > ( ) KTPCO0O0OGQO
0. 8m3( 0.6) 2.0t 3.15% [ ] KTPT000(
( 1,2, 3 ( 2 ) 0.8m3 2.9t

RTPCO0O0O 1
21.50% RTPTO0O0DO 1
RTPCO0O0O0G(
15. 80% RTPT000(
RTPCO0O0O0G(
11. 64% RTPT000(
RTPCO0O0O0G(
6. 28% RTPT000(

( ) ( ) ERO0O0O9
TTPCDOO 1
18, 8, 40 29.26% 18-8-25(20) W C 60% TTPTO00O0Q

W/ C(60 ), (

1.2 TTPCOOO 1
, 2 4KL 1. 44% TTPTO0O0O1

E99909

o



18-8-40BB

3.

15%

66 .

SPK21040049

15%

30.

70%

0.00%

0

-0011

1

0-0036

m3
50, 892

(

)

)

A
D

=N

18-8-40E

B

c=1




0-0037

1 voo30 0 -0012
H=1.67
0-0013
18-8-40BB 0.44m
( )
0-0014
3.05m
0-0015
0.40m
0.40m




SPK21040140 0 -0013

18-8-40BB ( ) 1 m3

; 4.43% 39.79% 55.78% 0.00% 28,968
( ) ( ) (
< > ( ) KTPC000Q6
0.8m3( 0.6) 2.9t 4.18% [ KTPT000Q6
( 1,2,3 ( 2 ) 0.8m3 2.9t

C ) C ) EKOOO9
RTPC000Q?2
12.91% RTPT000(Q2
RTPC000Q1
11.03% RTPT000(Q1
C ) C ) RTPC000Q6
6.76% RTPT000(Q6
RTPC000Q9
6.39% RTPT000(Q9

C ) C ) EROOO
TTPCDOOZI0
18, 8, 40 53.83% 24-12-25(20) W/ C 55% TTPT00343

W/ C(60 ), (

1.2 TTPCOOO13
L2 4KL 1.84% TTPTO00013




0-0039

SPK21040140 0 -0013
18-8-40B8B ( ) 1 m3
: 4. 43 % : 39. 79% : 55. 78% : 0. 00% 28, 968
( ) ( ) ( ) ( )
) ( ) EZO0O0Y9
E9999
A=2 B=2 ( )
c=2 18-8-40BB F=2
J=1 - K=1




o>
i

[N Y

SPK21040142 0 -0014
1 m2
0.00% : 100. 00% : 0.00% : 0.00% 7,775
( ) ( ) ( ) ( )
RTPCOOO10
45,16 % RTPTO00010
RTPCO000(2
30. 69% RTPT000(d2
RTPC000Qd9
11.11% RTPT000(d9
( ) ERO0O0O9
EPOO1
B=2




o>
i

=N

SPK21040142 0O -0015

1 m?2

0. 00% : 100. 00 % : 0.00% : 0.00% 10,574
( ) ( ) ( ) ( )

RTPCO0O0O0OJO
33.21% RTPTO0O0O01JO
RTPCO0O00(Q2
22.56% RTPT000(d2
RTPCO0O00Q9
8.17% RTPT000Qd9

( ) EROO0O9

EPOO1

B=2




N

0-0042

Vo031 0O -0016
=1.69
0-0013
18-8-40BB 0.44m
( )
0-0014
3.08m
0-0015
0.40m
0.40m




0-0043

3 v0032 0O -0017
H=2.50
0-0013
18-8-40BB 0.62m
( )
0-0014
4. 25m
0-0015
0.69m
0.69m




0-00414

4 V0033 0O -0018
H=2.52
0-0013
18-8-40BB 0. 63m
( )
0-0014
4. 29m
0-0015
0. 70m
0. 70m




0-0045

5 V0034 0 -0019
H=2.01
0-0013
18-8-40BB 0O.55m
( )
0-0014
3.79m
0-0015
0.52m
0.52m




I o

0-0046

V0035 0O -0020
=1.91
0-0013
18-8-40BB 0.52m
( )
0-0014
3.59m
0-0015
0.49m
0.49m




0-0047

7 V0036 0 -0021
H=2.20
0-0013
18-8-40BB 0.54m
( )
0-00114
3.69m
0-0015
0.60m
0.60m




0-0048

8 vo037 0 -0022
H=2.19
0-0013
18-8-40BB 0.53m
( )
0-0014
3.67m
0-0015
0.59m
0.59m




0-0049

9 v0o038 0 -0023
H=2.35
0-0013
18-8-40BB 0.58m
( )
0-0014
3.97m
0-0015
0. 65m
0. 65m




0-0050

10 v0039 0O -0024
H=2.22
0-0013
18-8-40BB 0.54m
( )
0-0014
3.73m
0-0015
0.60m
0.60m




0-0051

11 v0040 0O -0025
H=2.33
0-0013
18-8-40BB 0.63m
( )
0-0014
4. 37m
0-0015
0.62m
0.62m




0-0052

12 voo041 0O -0026
H=2.25
0-0013
18-8-40BB 0.60m
( )
0-0014
4. 21m
0-0015
0.60m
0.60m




SPK21040140 0 -0027
18-8-40BB ( ) 1
4.53% 37.78% : 57.69% 0.00% 28,266
( ( ) ) (
KTPC
0.6) 4.28% [ ] KTPT
1,2,3 0.8m3 2.9t
( EKOOO9
RTPC
11.31% RTPT
RTPC
10. 72% RTPT
( RTPC
6. 93% RTPT
RTPC
6.55% RTPT
( EROOO
TTPCD
8, 55. 69 % 24-12-25(20) W/ C 55% TTPTO
) (
1. TTPC
2 4KL 1.89% TTPT




0-0054

SPK21040140 0O -0027
18-8-40BB ( ) 1 m3
4. 53% : 37. 78% : 57. 69 % : 0. 00% 28, 266
( ) ( ) ( ) ( )
C ) C ) EZ00O
E9999
A=1 B=2 ( )
c=2 18-8-40BB F=2
J=1 - K=1




0-0055

( Gr) SS000123 0 -0028
Gr-C-28B [ 121m 1 m
( ) 1.000m
Gr-C-28B
1
1 m
A=1 - B=3 _GrrC-28B
C=3 [ 121m E=1 -
F=1 - G=1 -
H=1 - I =1 -




0-0056

voo1o0 0 -00209
10 m
0-0013
18-8-40BB 6. 24m
( )
0-0030
8.35m
0-0015
8.62m
8.62m
0-0031
SD295 D13 0.015
0-0032
7.5cm 12.5cm 7. 07m
RC-40
0-0033
0.32m
1: 3
2
10
1




o>
i

[N Y

SPK21040142 0O -0030

1 m?2

0. 00% : 100. 00 % : 0.00% : 0.00% 7,775
( ) ( ) ( ) ( )

RTPCO0O0O0OJO
45, 16% RTPTO0O0O01JO
RTPCO0O00(Q2
30.69% RTPT000(d2
RTPCO0O00Q9
11.11% RTPT000Qd9

( ) EROO0O9

EPOO1

B=2




[l @2}

SPK21040330 0 -0031
SD295 D13 1
: 0.00% : 77.18% : 22.82% : 0.00% 317,350
( ) ( ) ( ) ( )
RTPCO0O0O 1
45, 24% RTPTO0O0DO 1
RTPCO0O0O0G(
20.32% RTPT000(
RTPCO0O0O0G(
10.11% RTPT000(
( ) ( ) ERO0O0O9
<JI SG3112> TTPCDO414
SD295, D13 22.82% SD345 D13 TTPTO00O0Q
0.995kg/ m
EPOO1

A=2 SD295 D13 B=1 - ( )




SPK21040033

0.00%

-0032

0.8m3( 0.6m3)

< >
0. 8m3(
( )
( )
( )
40 O0Omm

RC- 40
75.77% : 18.
( )
6. 07 %
36.57%
15. 85%
14.16%
8.67%
13.07%
5.02%

o




0-0060

o>

SPK21040033 0O -0032
7.5cm 12.5cm RC-40 1 m?2
: 6. 11% 75. 77 % : 18. 12% 0. 00% 1,101
( ) ( ) ) (
( ( EZ0O09
EPOO1
5cm 1 5cm B=1 RC-40

=N

N




o>
i

[N Y

SPK21040141 0O -0033

1: 3 1 m3

0. 00% : 62. 48% : 37.52% : 0. 00% 37,861
( ) ( ) ( ) ( )
RTPC0O0O00(Q2
62.48% RTPT000(Qd2
( ) B TTPC0004G3
B 24. 63 % 25kg TTPT00043
25kg/

TTPC0O0O04G6
( ) 12.89% ( ) TTPT00046

EPOO1

B=3 1: 3




0-0062

vVoOo1l1 0O -0034
10 m
0-0013
18-8-40BB 9.11m
( )
0-0030
11. 31m
0-0015
10. 96 m
10. 96 m
0-0031
SD295 D13 0.015
0-0032
7.5cm 12.5cm 8.89m
RC-40
0-0033
0.37m
1: 3
2
10
1




) SPK21040227 0 -0035
RM- 30 100mm 1 1 m?2
10. 38% 30. 75% : 58. 87% 0. 00%
( ( ) ( ) (
MTPCO0O01S3
2 4., 20% 2 MTPTO0O01S3
3.1m 3.1m
MTPCO0O01S3
2 3.25% 2 MTPTO0O01S3
10t 2.1m 10t 2. 1m
< > KTPCO0O0O0OOO
8 20t 1. 06% KTPTO0O0OUQO
( 1, 2 8 20t

( ) ( ) EKOOO9
( ) ( ) RTPCO0O0OOO
14. 14% RTPTO0O0OQO
RTPCO0O0OOO
4., 97% RTPTO0O0OQO
RTPCO0O0OOO
4. 74 % RTPTO0O0OQO
RTPCO0O0OOO
1.36% RTPTO0O0OQO

( ) ( ) EROO0O9




( ) SPK21040227 0 -0035
RM- 30 100mm 1 1 m2
10. 38% 30. 75% : 58.87% 0. 00% 543
( ) ( ) ) (
TTPCOOO1O0
30 Omm 56. 09% RM- 40 TTPT003§7
[ 150mm
1.2 TTPCO0O0O013
, 2 4KL 2. 28% TTPT00013
( ) ( EZ0O09
E9999
A=5 RM- 30 E=100 ( mm)
H=1 - ( )
(mm)/ 1000* ( 1)
(mm) :100.000( mm)




( ) SPK21040234 0O -0036
1.4m (1 50mm 1 50mm 1 m2
: 0.51% 44.56% : 54.93% 0.00% 2,452
( ) ( ) ) (
( ) MTPCO00047
0.29% MTPTO00047
0.5 0.6t
MTPCO00O049
0.15% MTPTO00049
40 60kg
( ) ( EKOO9
RTPC0O0O0Q1
20. 05% RTPT000Q1
RTPC0O0O0O0Q2
14.02% RTPT000Q2
RTPC00O0Q9
4. 02% RTPT000Q9
( ) ( EROO09
As TTPCDOOJ38
(20) 50. 06 % [ 50mm TTPT00244
(J1 SK2208) (J1 SK2208) TTPCOOOZ6
( ) 4. 70% ) TTPT0O0026
PK- 3 PK- 3




SPK21040234 0O -0036
(1 50mm 1 50mm 1 m2
0.51% : 44.56% : 54.93% : 0.00% 2,452
( ) ( ) ( ) ( )
TTPCO0OO14
0.12% TTPTO0O0O014
1.2 TTPCOOO 13
2 4KL 0. 03% TTPTO0O0O 13
( ) EZ009
E9999
A=1 1.4m (1 50mm ) B=50 1 ( mm)
C=6 (20) E=2 PK- 3
G=1 - H=1 -
I =1 - ( )
(mm)/1000*( ( )+ )
(mm) :50.000(mm)




0-0067

( Gr) SS000127 0 -0037
A, B, C( 2 m) 1 m

1.000m

A, B, C( 2 m)
1
1 m

A=2 B=6 A,B,C( 2m)

cC=1 - D=1 -




SDT00031

0

-0038

0-0068

m3

1. 00 M3
1
1 m3

o>
non
[N Y

O ®
non
e




( ) SPK21040018 0O -0039
1 m?2
23.01% 69. 05% 94 % 0.00% 1,524
( ) (
( ) ( ) MTPCOO0DO7
2 23.01% 2 MTPTO0O0DO?7
0. 13/ 0. 10m3 0.13/ 0. 10m3
( ) ( ) RTPCOO0OOOQO
69. 05% RTPTO0O0OQO
1. TTPCO0OO1
, 2 4KL 7. 94% TTPTO0O0O 1
EPOO1




mo >
nnon

R R R

SPK21040138
DI D 3.3km (1.6km )
43.38% : 41.88% : 14.74% :
( ) ( )
] [
43.38% 10t
( ) ) (
( )
41. 88%
1.2
, 2 4KL 14.74%
Co( ) B=1
DI D D=14

N~




SPK21040138 0 -0041
DI D 3.5km (3.0km )
19.75% : 70. 85% : 9.40% : 0.00%
( ) ( ) ( ) (
[ ] [ ]
2t 19.75% 2t
( ( ) ) ( ( ) )
( ) ( )
70. 85%
1.2
, 2 4KL 9.40%
A=3 B=4 ( )
c=1 DI D D=17 3.5km (3.
E=1 - ( )

N~




SPK21040054 0O -0042
7.04% : 90. 11% : 2.85% : 0. 00% 12, 067
( ) ( ) ( ) (
( )
28m3( 0. 2) 1.7t 7.04% 1.7t
( 1,2, 3 ) 0.28m3( 0. 2m3)
48.13%
( )
22.06%
15. 83 %
4. 09%
1.2
, 2 4KL 2.85%
A=1 B=1
c=2




_ ( ) SPK21040056 0 -0043
18-8-40BB 1 m3
2.42% : 32.73% 64. 85% : 0.00% 25,527
( ) ) ( ) (
> ( ) KTPCO0O0O0109
0.28m3( 0.2) 1.7t 2.42% 1.7t KTPT00019
( 1,2,3 ) 0.28m3( 0.2m3)
RTPC000(2
12.63% RTPT000(2
RTPC000(1
11.56% RTPT000(1
( ) ( ) RTPCO0O0O0(6
7.58% RTPT000(6
( ) ( ) ERO0O0O9
TTPCDOO10
18, 8, 40 63.87% 18-8-25(20) W/ C 60% TTPT000d3
w/Cc(6o0 ), ( )
1.2 TTPC0O0013
.2 4KL 0.98% TTPT00013
E99909
A=1 B=2 18-8-40BB
D=1 -




SPK21040056

18-8-40BB

32.

73 % : 64.85%

0.00%

0

-0043

1

0-0074
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KEBH =] 3.7 4
RBFES 12.0 12




=
T = & 49 X
I & & A #M B E£B BHi FEIR #T HUDIE T BrinEt+E B o EHiE
+T
EBT 13. 1
g+T B+ CGSE m3 111 3.5 146 0.9 13. 1
BIR+T ,
B+T %At B m3 0.0 0.0 0.0 0.0
HE#T
IRYE HIET 8.7
EE+T ME+L EGSE m3 9.8 0.7 105 0.9 9.5 >
HBRL
#AL  Fu  m3 0.8 0.8 0.8
HEEEE K m2 139 13.9
Y+®R SL m2 158 15.8
BtER SL m2 0.0 0.0
1EERTNIET
21.8
e+ m3 2.9 0.9 2.8 — |
At LR E m3 24.2
:‘/HSliE‘l, m3 1.7 1.7
7 R Y m | 2.8 2.8




T M E KX
T I EEER (e Janunl
IR N: || = " _
2 RT AR L& I Bt aV(ERRE 4t Bt 3 15 EEEE
1=:K [v] m m3 m3 m2 m2 m2 m3 m3 m?2
TT 7.5 1.1 0.0 8.3 15.8
1EE+T 9.8 0.8 13.9
it 7.5 1.1 0.0 8.3 15.8 0.0 9.8 0.8 13.9
8.3%0.20
1.7 m3




S ) = T+ T it B'E OE
2 Hl

p:| = BB B E ¥y ax FE E ¥ T BOE
[FEFT]
SECT 109.0 - 1.7
SECT 113.0 4.0 1.3 1.50 6.0
SECT 116.5 3.5 1.6 1. 45 5.1

& i 1.5 11.1




it OE = + T

avy)—hIEREL
A =y B COB ¥ ¥ &
(FERR]
- 2.0
SECT 113.0 0.8 2.0 2.00 1.6
SECT 116.5 3.5 1.8 1.90 6.7
a & 4.3 8.3




Bt

adaod

= T+ T it B'E OE
Y1 R mER 1 R mEmER

p: | =Nl B L E ¥ & oo ¥ & &
[FEFT]

SECT 109.0 - 2.1

SECT 113.0 4.0 2.1 2.10 8.4
SECT 116.5 3.5 2.1 2.10 7.4
& i 1.5 15.8




EETA) #H=E & i X
avyy—rIJny Y iEkER ERYa Y1) —k
Z2 MRk U B A EE 1578y E Uy AEXRIGT 187 ny)EBET RELBHEM 2P U—F
% % 0. 35m RC-40 EmAL 1:0.4, t=0.45m £=10mm
By m m2 m3 m m m2 m3
= 6.9 13.3 6.2 6.9 6.9 13.3 3.0
it 6.9 13.3 6.2 6.9 6.9 13.3 3.0




EEIQ M E KX
/IO 1ET (H<B. 0) MOLET (3. 0=H<5. 0)
5 R U B B
INEY et INEY et
=2K v m3 m2 m2 m3 m?2 m?2
ME/hNA1kET 0.3 0.6 4.4 0.6
128/NA1ET 0.3 0.6 4.2 0.6
Hi 0.6 1.2 8.6 1.2




it 5 = XTI T it B OE

K (EEL) #BRL EEEIE
A = hicy3 E F1 IR Fu F1 IR K F1 &

(FE&FT]
SECT 109.0 - 1.3 0.1 1.8
SECT 113.0 4.0 1.3 1.30 5.2 0.1 0.10 0.4 1.9 1.85 1.4
SECT 116.5 3.5 1.3 1.30 4.6 0.1 0.10 0.4 1.8 1.85 6.5

op
i

H 1.5 9.8 0.8 13.9




= 3 N =3 =
S K JAavyoEL S
18309)-b7" 09HF& (1:0. 4) ZABA
Al = BB B SL I ¥ F & Gv I ¥ 3T v %
RERD)
SECT 109.3 - 2.0 0.9
SECT 113.0 3.7 1.9 1.95 1.2 0.9 0.90 3.3
SECT 116.2 3.2 1.9 1.90 6.1 0.9 0.90 2.9
& § 6.9 13.3 6.2




Kima > M E B B
4 5
525
avyl)—+
ock=18N/mt \|._ 480
S A e——
e
S 3
20
7t/

Xigaro)—+hk HVED)

E A #H =

avh)-+ 1.03 m3

L A 3.75 m2

XiEa =2 S HE
£ OB % g = E E mZ¥UYHKE #H =
6.9

[ 4 & ]
a4 ) — b+ | ock=18N/mm2 6.9 1.03 0.71 m3
£l B —-NE 6.9 3.75 2.59 m2




it B

BT 10m&HY

& Al #H =

- 1.14

EIL 4.00 n’

HEEA 7.20

HBET M = f E
% b R O® - = E E 1m3HVYHE WM =
6.9

[ 1 & ]
a4 1) — b | ock=18N/mm2 6.9 1.14 0.79 m3
# B —hR - pE 6.9 4.00 2.76 m2
H B #f |RC-40, t=100mm 6.9 71.20 4.97 m2




i O® & Kk U—F+ & BH &
Eka>oU—+

B A B B CO ¥ M w W & P ¥ w W
GELRD!
SECT 109.0 - 0.4
SECT 113.0 4.0 0.4 0.40 1.6
SECT 116.5 3.5 0.4 0.40 1.4

& % 15 3.0




NAWET ¥ 2 F E
1S/hOtET 128/ OIET
(SECT109.0) H=2.33 (SECT116.5) H=2.25
592 592
30 30
485
0] 0 N

A = 1/2x (0. 485+0.592) x 0. 267+1/2 x (0. 835+1.001) x 1. 663

+1/2x (1.10140. 981) x0.400 = 2. 087

vhy-p

V =2.087x0.30 = 0.63

B (=) A =2.087x24 (0.400+0.267) x0.30 = 4.37

B#ME) A=2.079%0.30 = 0.62

A = 1/2x (0. 485+0. 592) x 0. 267+1/2 x (0. 835+0. 993) x 1. 583

+1/2x (1.093+0. 973) x0.400 = 2. 004

A = 2.004x 2+ (0. 400+0. 267) x0.30 = 4.21

WP+ V=2.004x0.30 = 0.60
B (-)
B(E) A=1.992x0.30 = 0.60

MOET #H 2 & HE
% G S 1 = E R mHYBE H E
[115]) SECT 109.0 | H= 2.33m
vy 1) — bk ock=18N/mm2 HEER & Y 0.63 m3
£ e MBS HBEREY 4.37 m2
%  HBERKY 0. 62 m2
[125] SECT 116.5 | H= 2. 25m
a9 1) — bk  ock=18N/mm2 #EER & Y 0.60 m3
B B NBE BERKY 4.21 m2
£ % HBERKY 0. 60 m2




A

2.3 2.3

HET M E KX
HET AR ER
LM E U E A MET7RAIY BEMARA BARAE FHRNE7RaY
t=bcm t=10cm t=10cm t=bcm
BA{3f m?2 m?2 m?2 m?2
HEGE 2.3 2.3 2.8

2.8




it OE * fHET i E O£
#=[2 (t=5cm) + E %A (t=10cm) TR & H#E (t=10cm)
A = ek g Fiy & g Fiy FiE g Fiy TiE

(FE&ERT]
SECT 109.0 - 0.30 0.30
SECT 113.0 4.0 0.30 0.30 1.2 0.30 0.30 1.2
SECT 116.5 3.5 0.30 0.30 1.1 0.30 0.30 1.1

& i 2.3 2.3




it OE * EHZE R ER i E O£
#=[2 (t=5cm) + E %A (t=10cm) TR & H#E (t=10cm)
A = ek 2 Fiy & g Fiy FiE g Fiy TiE

(FE&ERT]
SECT 109.0 -
SECT 113.0 4.0 0.50 0.25 1.0
SECT 116.5 3.5 0.50 0.50 1.8

& i 2.8




T (BE - 1818 ME KRR
I YUMIFT EELT
s - At 70w T& (2 35cm) ZFEL
'R U R B 77 Am- il Bt iR
HENR $0.35 TiE VR - RZ
::E v m?2 m?2 m3 m?2 m3 m3 m3
%78 2.7 2.6 0.0
B= 0.9
T 3.5 0.0 0.7
B 2.7 2.6 0.9 0.0 3.5 0.0 0.7




MT (WX - EI18) # it B

il

SEMRIEL - BIB L=7.5m
E®RYa> Y )—F L=1.5m
C0 (FESR) BRtk L=4.3m

118AOLET 1570y MR BT

L=0. 3m 1=6.9m
1.7 3.70 3.20

o o
=3 o
S -
= =
(&3 (&3
2 2
EE IS 8l @
g £ o
= = [rs)
| — =
o
o o <<

< <

Io' S

(I
Q
S

CO;

t=0. 20m
EBYILIU—b _ - “
o~ o~ T
4 - 2
© . .

BREEY
%E%ﬂﬁﬁ)g

D
y w®
EL=12.93 _HkARE
5
NEMOET ExRYaALIY—k 128/ 01T
DL=10. 000 H=2. 33m H=2. 26m

1570y oA
H=0. 30m

iz )
Q| Brif(1:0.9)

MT (BE - #EI1R) # E F &
£ g RO g = =
FTYMITI
a & HEHF0.35 A=1/2x (0.5+1.7) x2.3%x1.077 2.7 m2
Jnow s B #z3cm A=1/2x (0.5+1.6) x2.3x1.077 2.6 m2
& i1 I m2
BET
J Ay U f #¥x3bem V=2.6%0.35 0.9m3
T
2 Al (©) 1/2%2.1%1.7+1/2%2.2% 1. 6= 3.5m3
B x (B) m3
K iE (E) 1/2%1.3%0.5+1/2x1.3%0.5= 0.7m3




RE&T #H =% 5 X

REEEE Bt4a4T  (REEE siRaA T WY T KEBH KET

2R OIS mt BEpF)  1500x3000(mm)  HEE RELDS HHET

h=0. 50m t=10cm t=22mm Y E TEKX R ¢ 300
By m3 m3 ® t % £ m = AT
RE% 1.0 3.0 22.5 3.7 1.0

B 0.0 0.0 0 0.00 1 22.5 3.7 1.0
4
[shEEA1A04)] 1.0m3/1.20 (14825 1))
=4.0x (1.0/1.20)= 3.3




REELT (RELDS5#HIY) £

=

il

pull]

TR E

A TR B K SRAZAE T @

TN <3 ODIE S

EET
H
=
- £
KELDSwE 1

KA =D sk
=) H
< &
=
X
BE
SiER:
BEFEDOIHD
BHER L=7. 5m

AR (£ W=1.80m  (SECT 116.5)

KELE H=0. 10m
KE+OS5#ET (0.1+0.3) x1.8x1/(1.08%x1.10)= 0.6 1.0 &
HeET 7.5+(1.0+2.0) x5= 22.5 m




REXLT (HK*ER) HETEE
A IR H K R TE
TIEN< 3. OB &
R#EOHYIY TEHE
HfET
H
R
.. £
FBIDIHE 1
FA =D cﬂ:llthlfJB:n‘-.ll‘ o
= H
= R
oy
Z
B
HELXOFL
SATERTE (F ) W=1.90m  (SECT 109.0)
[KE+D 5]
TEIKFT R (0.1+0.3) x1.9x4/(1.08x1.10) = 2.6 3 £




RExT OKEI) MEIHEAEE
KEBRRERHE
JOov o
BIEE L= 6.9m 10m 1)
AT whY-p V= 0.8 m3 1.14 m3
e A= 2.8 m2 4.00 m2
Hit# A= 5 m2 7.20 m2
X R BT BANGE H= 0.2m
FEHKEL h= 0.3m
EFEaE 1:0.4 F;E 1.077
A= (0.2+0.3+0.3) x1.077%6.90 =
= 5.9 m2
2R 1V)Y-} 3.0 m3
IOET 2 H
BIES R
/ /]
s/ /)
s S / /]
= o / /] &
e /)] &
= N/ /] smH
— \ N / S
I & XZE - =k BEEEE
V9 - R R 0.8 0.8 / 5.0= 0.2 5m3 /H
E 2 2.8 2.8 / 15.0= 0.2 15 m2 /H
EEEM 5.0 5.0 / 155.0= 0.0 155 m2 /H
7 nyhiE 5.9 5.9 / 13.0= 0.5 13 m2 /H
JEERIV)Y-b 3.0 3.0 / 4.0= 0.8 4 m3 /8
NOwET 2.0 2.0/ 1.0= 2.0 1 &#Ffr /8
it 3.7




XEFES

REFEEREAYK
I & HEH=E g B BEEESE

Al A—T -8 146 146 |/ 37 0.39 [11.1+35 37m3|/H
Bt 25mELF INEFE(100m3LLTF) 0.0 /43 - 43 m3 /H
EREER Ut et 158 | 158 |/ 140 0.11 140 m3|/H

Bt 0.0 |/ 140 - 140 m3|/H
PR T# INERE 105 105 |/ 32 0.33 9.8+0.7 32 m3|/H
R IMRE 0.8 0.8 |/ 61 0.01 61 m3|/H
Jov)ia REREH 133 133/ 42 0.32 42 m3//8
A -RARR RE 6.2 6.2 |/ 50.0 0.12 50.0 m3//H
AR RR 0.0 |/ 50.0 - 50.0 m3|/H
LB EH R E £\ 133 | 13.3|/500 0.03 500 m2|/H
a0 —k BHER 0.8 08 |/37 0.21 3.7m3/H
a2 0)—k BER 3.0 30 /37 0.81 |[E3RIVYY-t 3.7m3|/H
Kigar Co 0.7 07 /34 0.21 3.4 m3|/H
NOlkET KEZ 2 2 /1 2.00 1 & /8
BHA R avyy—k 00|/16 - 1.6 m3//H
EARE 2.7 27 /19 0.14 | F&4FER 19m2//H
Jov)ia BE 2.6 26 /13 0.20 $BfTER 13m2|/H
EA-RARR &0 - £ 1t 0.0 |/ 20.0 - 200 m3//H
EET RS 0.0 |/ 222 - 222 m2|/H
SHET =[E 2.3 2.3 |/ 250 0.01 250 m2|/H
" B A 2.3 2.3 /230 0.01 230m2|/H
X E#R BRE 0.0 |/ 1000 - 1000 m|/H
A—FL—L CO%E 0.0 /40 - 40m|/H
" COHiE 0.0 |/ 200 - 200 m|/H
" THERE 0.0 /130 - 130 m|/H
" ToiEE 0.0 |/ 250 - 250 m|/H
SRR BT 0.0 |/ 230 - 230 m|/H
SHEMREEL 2.8 2.8 |/ 260 0.01 260 m2|/H
Jov iERUEL 0.9 0.9 /20 0.05 $BfTER 20 m2|/H
oV —rEUEL - pE 1.7 1.7 /19 0.09 19 m3|/8
KE+TD5 75— EREE-RE 40 40|/ 80 0.05 80 % /R
KE+TD5 75— EREE 40 40 |/ 134 0.03 134 &|/R
L2673 HiE 0.0 |/ 1000 - 1000 m2|/H
L2673 = 0.0 |/ 1000 - 1000 m2|/H
BMET BRE 225 225 |/273 0.08 273 m|/H
BMET BE 225 | 225 |/ 546 0.04 546 m|/H
HreIHEk T 1.0 10 /1.7 0.59 1.7 #ifr /8

a&t 584 = 6

EEEIHTEEIERE 18
BIA% 105 = 11
REAS 2AEE 6 X 2 12 A
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0-0002

X1000
1435
Y1AO01 1
1
Y1LAO0101 2
1
Y1LA0101013
1
Y1A010101401
20 m
SPK21080001
(
20 m 0O -0001
Y1LA0101033
1
) Y1A010103401
2.5m
0. 6m
( ) SPK210800014
2.5m
0. 6m 0O -0002




0-0003

Y1A0101063

1
YLA010106401
40
SPK21000024
' 40 0 -0003
Y1LA0101083
1
YLA010108402
)
40
SPK2108000 2
DI 13.0km (0. O0km )
40 0 -0004
YLA010108403
40

#0041

40

FOO0O00000O01




0-0004

Y1LA0107 2

1
Y1A01070 13
1
Y1A01070 140 2
30
SPK210@80015
(
30 0O -0005
Y1A010701403
10
( ) SPK210080007
( )
10 0O -0006
Co (Co Y1A0107033
1
Y1A010703401
ock=18N/ m2
15

18-8-40BB

SPK210080048

0O -0007




0-0005

Y1A010703405

28
SDT000G8B©®©
18-8-40BB
28 0O -0008
( ) Y1A010703408
RC- 40
14
( ) SPK210080044
RC- 40
14 0O -0009
Y1A010703413
ock=18N/ m2
1
SPK2100800409
18-8-40BB
1 0O -0010
Y1A010703414
ock=18N/ m2
4
1 Vo030 00
H=2.15
1 0O -0011
2 vo031 00O
H=2.06

0O -0015




0-0006

3 vo0o32 00
H=2.30

0O -0016
4 vo033 00
H=2.52

0O -0017

Y1LA0107 2

Y1A0101013

Y1A010101401

SPK210080001

0O -0001

Y1A0107013

Y1A01070140 2

SPK210080015

0O -0005




0-0007

( ) Y1A0107113
1
Y1A010711405
11
( ) SPK210080054
11 0O -0018
Y1A010711407
ock=18N/ m2
1
SPK210@80056
18-8-40BB
1 0O -0019
Y1J01 1
1
Y1J0101 2
1
Y1J01010 13
1

W=4. 0m

17

Y1J010101401




0-0008

vooo1l 0O

W=4. 0m
17 0O -0020
Y1J0101043
1
Y1J010104419
1
(BH SHD100OG
1 0O -0023
SHD10OMAM
6 m
1 0O -0025
Y1J010104419
3
(BH SHD100OG
3 0O -0023
SHD10OMAM
6 m
3 0O -0025

Y1J0101063




0-0009

Y1J010106401

0 40
6
SHD100GT®
1 0O -0027
S10500060
0 40 ( m3/ h)
6 0O -0029
Y1J0101083
1
300 Y1J01010840 3
47
SPK21080080
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300mm
47 0O -0032
Y1LA0101083
1
Y1A010108402
( )
50
( ) SPK21080007
50, 000m3
50 0O -0033
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#0020 = ( ) .

Z0019
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) (
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, 2 4KL 11. 23%

m >
i

~N R




( ) SPK210400014 0O -0002
2.5m 1 m3
: 0. 78% 99. 01% : 0.21% 0. 00% 5,709
( ( ) ) (
> ( ) KTPC0O00QS8
0.8 1.1t 0. 78% [ ] KTPT000QS8
0. .1
RTPCO0O0O0Q2
90. 40% RTPT000Q2
RTPC000Q1
8. 61% RTPT000Q1
1. TTPCOOO113
, 2 4KL 0.21% TTPTO00O0113
EPOO1
A=1 5m




SPK21040024 0O -0003

) , 1 m2

10. 84% 79.28% : 9. 88% 0. 00% 783
( ( ) ( ) (
< > ( ) KTPC00O018
0. 8m3( 0.6) 10. 84 % KTPTO0O0O0O18
( 1,2,3 0. 8m3( 0. 6m3)

RTPC0O000(Q2
38.44% RTPT000(Q2
( ) ( RTPC0O000(Q6
21.93% RTPT000(Q6
RTPC0O00O0Q9
18. 91% RTPT000(Q9
1. TTPCO0O0O013
, 2 4KL 9. 88% TTPT00013

EPOO1

A=2 C=2
D=2 , E=1 - ( )
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( DI D 13.0km (10. 0km )
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( ) ( ) ( ) (
[ ] [ ]
4t 25. 95% 4t
( ( ) ) ( ( ) )
( ) ( )
61. 91%
1.2
, 2 4KL 12.14%
A=2 B=5 0. 28m3(
c=1 ( ) D=1 DI D
F=46 13.0km (10.,0km )

N~




SPK21040015

( )
22.07% : 70. 62 %
( ) ( )
( )
2 22.07%
0.28/ 0.2m3
( )
38.15%
32.47%
., 2 4KL 7.31%
A=1
E=1 - ( )




( ) SPK21040007 0 -0006
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30.15% 58.62% : 11.23% : 0.00% 982
( ( ) ( ) ( )
( ) ( ) MTPCO0O0OE]2
2 30.15% 2 MTPTO0O0O€{2
0.28/ 2 m3 0.28/ 0. 2m3
( ) ( ) RTPCOO0OO0(6®6
58. 62 % RTPT000(6
1.2 TTPCO0O0O0213
, 2 4KL 11.23% TTPT00013
EPOO1
A=1 B=4 ( )
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SPK21040048 0 -0007
18-8-40BB 1 m3
: 2. 58% 69.99% : 27.43% 0. 00% 66, 104
( ( ) ( ) (
< > ( ) KTPC0O000(Q6
0. 8m3( 0.6) 2.9t 1.82% [ KTPT000(Q6
( 1, 2, ( 2 ) 0.8m3 2.9t
< > ( ) KTPC00O018
0. 8m3( 0.6) 0. 76% KTPTO0O0O0O18
( 1,2,3 0. 8m3( 0. 6m3)
RTPC0O000(Q2
20. 83 % RTPT000(Q2
RTPCOOOJ0
20. 45% RTPTO0O0OZJ0
RTPC0O00O0Q9
9. 33% RTPT000(Q9
RTPC000(Q1
8. 7T0% RTPT000(Q1
( ) ( ) ERO0O0Y9
TTPCDOO1O0
18, 8, 40 22.52% 18-8-25(20) W C 60% TTPT000Q3
wCc(60 ), (
1.2 TTPCO0O0O013
, 2 4KL 1.42% TTPT00013
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: 2.58% : 69.99% : 27.43% : 0.00% 66, 104
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( ) SPK21040044 0 -0009
RC- 40 1 m3
10.20% 65. 95% . 23.85% 0.00% 6,559
( ( ) ) (
< > ( ) KTPC000Q6
0.8m3( 0.6) .9t 10.20% [ ] KTPT000Q6
( 1,2,3 ( 0.8m3 2.9t
RTPC000Q?2
39.35% RTPT000(Q2
RTPC000Q1
15. 00 % RTPT000(Q1
C ) ( RTPC000Q6
11. 06 % RTPT000(Q6
C ) ( EROOO
TTPCOOO(S
40 0Omm 20.49% RC- 40 TTPTO0O0O0(S
1.2 TTPCOOO13
L2 4KL 3.36% TTPTO00013
EPOOL
A=1 B=1 RC- 40




0-0023
SPK21040044 0 -00009
RC- 40 1 m3
10. 20% : 65. 95% : 23.85% : 0.00% 6, 559

( ) ( ) ( ) ( )




SPK210400409 0 -0010

18-8-40BB 1 m3
: 3.15% 66. 15% 30.70% 0.00% 50, 892

( ) ( ) (
< > ( ) KTPCO0O0OO0O(6
0. 8m3( 0.6) 2.0t 3.15% [ ] KTPT000(d6
( 1,2,3 ( 2 ) 0.8m3 2.9t

RTPCO0OO10
21.50% RTPT00010
RTPC000(2
15. 80% RTPT000(2
RTPCO0O0O0(Y
11. 64% RTPT000(d9
RTPC000(1
6.28% RTPT000(1

( ) ( ) ERO0O0O9
TTPCDOO10
18, 8, 40 29.26% 18-8-25(20) W/ C 60% TTPT000d3

W/ c(60 ), (

1.2 TTPC0O0013
.2 4KL 1. 44% TTPT00013

E99909




18-8-40BB

3.

15%

66 .

SPK21040049

15%

30.

70%

0.00%

0

-0010

1

0-0025

m3
50, 892

(

)

)

A
D

=N

18-8-40E

B

c=1




0-0026

1 voo30 0 -0011
H=2.15
0-0012
18-8-40BB 0.52m
( )
0-0013
3.60m
0-0014
0. 58m
0. 58m




SPK21040140 0 -0012

18-8-40BB ( ) 1 m3

; 4.43% 39.79% 55.78% 0.00% 28,968
( ) ( ) (
< > ( ) KTPC000Q6
0.8m3( 0.6) 2.9t 4.18% [ KTPT000Q6
( 1,2,3 ( 2 ) 0.8m3 2.9t

C ) C ) EKOOO9
RTPC000Q?2
12.91% RTPT000(Q2
RTPC000Q1
11.03% RTPT000(Q1
C ) C ) RTPC000Q6
6.76% RTPT000(Q6
RTPC000Q9
6.39% RTPT000(Q9

C ) C ) EROOO
TTPCDOOZI0
18, 8, 40 53.83% 24-12-25(20) W/ C 55% TTPT00343

W/ C(60 ), (

1.2 TTPCOOO13
L2 4KL 1.84% TTPTO00013




0-0028

SPK21040140 0 -0012
18-8-40B8B ( ) 1 m3
: 4. 43 % : 39. 79% : 55. 78% : 0. 00% 28, 968
( ) ( ) ( ) ( )
) ( ) EZO0O0Y9
E9999
A=2 B=2 ( )
c=2 18-8-40BB F=2
J=1 - K=1




o>
i

[N Y

SPK21040142 0O -0013

1 m?2

0. 00% : 100. 00 % : 0.00% : 0.00% 7,775
( ) ( ) ( ) ( )

RTPCO0O0O0OJO
45, 16% RTPTO0O0O01JO
RTPCO0O00(Q2
30.69% RTPT000(d2
RTPCO0O00Q9
11.11% RTPT000Qd9

( ) EROO0O9

EPOO1

B=2




o>
i

=N

SPK21040142 0O -0014

1 m?2

0. 00% : 100. 00 % : 0.00% : 0.00% 10,574
( ) ( ) ( ) ( )

RTPCO0O0O0OJO
33.21% RTPTO0O0O01JO
RTPCO0O00(Q2
22.56% RTPT000(d2
RTPCO0O00Q9
8.17% RTPT000Qd9

( ) EROO0O9

EPOO1

B=2




0-0031

2 Vo031 0 -0015
H=2.06
0-0012
18-8-40BB 0.50m
)
0-0013
3.44m
0-0014
0. 55m
0. 55m




0-0032

3 V0032 0 -0016
H=2.30
0-0012
18-8-40BB 0.57m
( )
0-0013
3.88m
0-00114
0.63m
0.63m




0-0033

4 V0033 0O -0017
H=2.52
0-0012
18-8-40BB 0. 63m
( )
0-0013
4. 29m
0-0014
0. 70m
0. 70m




SPK21040054 0O -0018
7.04% : 90. 11% : 2.85% : 0. 00% 12, 067
( ) ( ) ( ) (
( )
28m3( 0. 2) 1.7t 7.04% 1.7t
( 1,2, 3 ) 0.28m3( 0. 2m3)
48.13%
( )
22.06%
15. 83 %
4. 09%
1.2
, 2 4KL 2.85%
A=1 B=1
c=2




_ ( ) SPK21040056 0 -00109
18-8-40BB 1 m3
2.42% : 32.73% 64. 85% : 0.00% 25,527
( ) ) ( ) (
> ( ) KTPCO0O0O0109
0.28m3( 0.2) 1.7t 2.42% 1.7t KTPT00019
( 1,2,3 ) 0.28m3( 0.2m3)
RTPC000(2
12.63% RTPT000(2
RTPC000(1
11.56% RTPT000(1
( ) ( ) RTPCO0O0O0(6
7.58% RTPT000(6
( ) ( ) ERO0O0O9
TTPCDOO10
18, 8, 40 63.87% 18-8-25(20) W/ C 60% TTPT000d3
w/Cc(6o0 ), ( )
1.2 TTPC0O0013
.2 4KL 0.98% TTPT00013
E99909
A=1 B=2 18-8-40BB
D=1 -




SPK21040056

18-8-40BB

32.

73 % : 64.85%

0.00%

0

-0019

1

0-0036

m3
25,527

( )




0-0037

VvV0o0O0O1 0O -0020
W=4.0m 100 m
( ) 0-0021
4, 0m 225 m3
10, 000m3
CBR2O0 300 m3
40 Omm 30 m3
0-0022
( ) 30 m3
100 m




( ) SPK210400014 0O -0021
4, 0m 10, 000 m3 1 m3
: 20. 07 % 66. 40% : 13. 53 % 0. 00% 200
( ( ) ) (
> < > KTPCO0O0OO036
, 7t 12. 33% , 7t KTPT00036
( 1,2 ( 1, )
> ( ) ( KTPC0O0O0O0H4HS8
11 12t 7.74% [ ] KTPT00049S8
( 1,2,3 ) 11 12t
( ) ( ) RTPCO0O0O0Q6
44, 91% RTPT000Q6
RTPCO0O0O0Q2
21. 49 % RTPT000Q2
1.2 TTPCOOO113
, 2 4KL 13.53% TTPTO00O0113
EPOO1
A=3 4, 0m B=1 10, 000m3
c=1




SPK21040003

0.00%

0

-0022

. 75% : 11.
( )

31.05%

33.14%

24.61%

11. 20%




0-0040

( BH ) SHD10003 0 -0023
10
0.278 1*0.278
0.278 1*0.278
0.278 1*0.278
.0t )
x 110cm 10.000
)
10. 00 M3
( ) 0-00214
0. 8m3 3 0.278
#09
4 %
10
1
A=2 ( ) ( 110cmxB%20c m)
D=4 CODE ( m3)




0-0041

S9035 0 -0024
1
1.00
98.00 L
0.8m3( 1.39
1
1
A=2 0.8m3 B=98 (L/ )
c=1 D=1.39 ( I )




0-0042

SHD10011 0 -0025
6 m 10

0.069 1*0.069
0.069 1*0.069

- 28 _ ) 0-0026

2.9t 0. 8m3 0.069

1
10
1

A=1 6 m




0-0043

S9035 0 -0026
1
1.00
74.00 L
0.8m3( 1.26
1
1
A=2 0.8m3 B=34 (L/ )
c=1 D=1.26 ( I )




SHD10037

0

-0027

0-00414

0.500
0.100
2.000
-28 ) 0-0028
. 9t 0. 8m3 0.500
1




0-0045

28 ( ) S9035 0 -0028
2.0t 0.8m3 2 1
( )
1.00
, 4KL 69.00 L
> ( )
0.8m3( 0.6) .9t 1.16
( 1,2,3
1
1
A=12 Y 0.8m3 B269 L/
c=1 ( ) D=1.16 ( I )




0-0046

S1050031 0 -00209
0 40 ( m3/ h) 1
0.140
( ) 0-0030
150 mm, 15m 1.000
. Okw
-16 _ 0-0031
25k VA 1.000
2
#09
3 %
1




0-0047

( ) S9000045 0O -0030
150mm, 15m 11. Okw
< > (
150 mm, 15m 1.20
11. Okw
1
1
A=7 150 mm, 15m /)




0-0048

16 _ S94609 0 -0031
25k VA 2
, 2 4KL 26.00 L
> (
25k VA 1.20
(. 1,2,3 )
1
1
A=6 25k VA B=2 L/
c=1.2 ( ) D=3 2




SPK21040080 0O -0032
200 400mm 300mm 1 m
0. 00% 9. 04% : 90. 96 % 0. 00% 4,079
( ) ( ) ( ) (
RTPCO0O0O0Q2
6. 32% RTPT000Q2
RTPCO0O00Q9
2. 72% RTPT000Q9
( ) TTPC00191
< > ) 90. 96 % 300mm TTPT00191
300mm ( )
E9999
A=3 B=2
cC=2 200 400mm D=35 300 mm
F=1 G=2 3 ( 0. 2)
H=0 Il =1 - ( )




( ) SPK21040007 0 -0033
50, 000m3 1 m3
43.20% 38.90% 17.90% 0.00% 200
( ) ( )
( ) ( ) MTPCO0O0O 14
2 43.20% 2 MTPTO0O0O14
0.8/ 0. 6m3 0.8/ 0. 6m3
( ) ( ) RTPC0O0O0OdS6
38.90% RTPT000(6
1. TTPC0O0013
.2 4KL 17.90% TTPT00013
EPOO1
A=1 B=1 50, 000m3




8 B EF X (Z01)

(&) NN GRIN=ERE) [ALL)
IERXSD T B # A o« & |/ & . = i =
LALL LAL2 LALS Land LAps T AEWOBER& &R
KEEBIE
AT
utT
TaiEHl MBS m3 8.0 9.5 17.5
BmtT
Bt m3 0.5 0.1 0.6
EREER
YLiEmE m2 20.0 16. 1 36. 1
Rt Em m2
BEYMHET
BEYRELT
avo)—REEEL m3
f-JOvIBI
XTI
FRHE MEt m3 18.5 12.2 30.7
HERL AL m3 9.0 5.8 14.8
EmEF m2 5.7 3.8 9.5
avyy—rJav o
avsY—rJavoiE
JoyymiE %2 350m m2 15.9 12.3 28.21:0.4
EIARAR  RC-40 m3 8.0 5.9 13.9
Kim T EEEL m 8.9 5.8 14.7
TR ERBT avsU—k m 8.9 5.8 14.7
W LRsE#4 | t=10mm m2 0.0
MNOET
HSB.0  |a>41y—k 18N/mm2 m3 1.0 1.2 2.2 N=4
pitk —f% - NEY m2 1.0 8.2 15.2
1L %t m2 1.1 1.3 2.4
3.0=H<5.0a>%y—r | 18N/mm2 m3
i —fi% - NE m2
1L %t m2




Y

M BB OE % (zoD
(&) NN CGRINER) [ALL]
ITERXy T # # A o« % /& . = I =
LA LAL2 LRAS Land Laps T2 AER BER SRR R
T
+T
HEAI m3 1.9 2.5 4.4
Bt m3
FR1E m3 1.0 1.0 2.0
BIRT
AR (T UHITI)
Ssom m2 4.7 5.8 10.5.0 Hina/m2
Jay i YRIETI)
#%35cm | m2
BET
vy y— R
#%35cm | m3
RERERR (TR m 9.5 1.5 17.0
BtHaq47
Bt BAL m3 21.9 16.9 38.8
BEF]  t=10cm m3 2.9 2.3 5.2
R T
KEL®DS h=1.10 % 1.0 1.0
BKALIE  h=1.10 % 3.0 3.0
BT ¢300 m 46.8 46.8
Bt BAL m3 4.0 4.0
KET Elzii 1.0 1.0
TEEZE T
s il m3 18.9 18.7 37.6
wEgmt m3 21.9 16.9 38.8
BRI m3 2.9 2.3 5.2
EEEZR L m3 3.3 3.3 8t/1.2
IS SR EE T R m3 BEt/1.2
&t m3 43.7 41.2 85
o VER m3 2.35t/m3
KEBBHARYE
KEBK =] 3.3 2.8 6.1
XBIEES 10.0 10.0 20.0




E BB R (Z01)
(&) NN GRINE ) [AEFT]
IEXs I # & Al oA pS I .
Zay LARIL2 LARIL3 LU LARIJLS bt L mo®
KEEBISE
AT
T
TR HEAI MEL m3 8.0 10
BiT
Bt m3 0.5 1
EEER
UtiEm m2 20.0 20
BtiEm m2
EELT
HET
e m2
G- JOoyyRT
EELT
FRIE et m3 18.5 20
HREL mAL m3 9.0 10
HEMEEIE m2 5.7 10
avyy—rJovoiE
avoY—+rJnv oA
Jay o E#E %2 2x35cm m2 15.9 16/1:0. 4
EARR RC-40 m3 8.0 8
Rim T SREEL m 8.9 9
7 ny)EEET %l\?tﬁng_ " m 8.9 9
Wi LBAIE#  t=10mm m2
MNAET
H<3. 0 AV )—bk  pE 18N/mm2 m3 1.0 1N=2
iy — g - B m2 7.0 1
et m2 1.1 1
3.0=H5.0 [a>yY— 1k  /hEY 18N/mm2 m3
B —f% - NE | m2
et m2




B E B E R (202)
(&) NN GRINE) [AZEFRT]
IEXs I # & Al oA pS I .
LA | LA | LA Lo L AL Bfr BREHM FEHE B =
T
T
fEH m3 1.9 2
Et m3
RYE m3 1.0 1
BT
BEGYFRETID)
#E|H35cm | m2 4.7 5
Joy B UHHIFTI)
£ 2 35cm m2
WET
aVvy)— bR
£ 2 35cm m3
%L
fRERE R ER m 9.5
Btia47
Bt BAL m3 21.9 22
B F t=10cm m3 2.9 3
BiiRa 1 7
B8k HR (t-22) 1.5mx 3.0m ®
BEE t=22mm t
fRi#E T
XELDS5 h=1.10 &®
Ak h=1.10 &®
HHET ¢ 300 m
Et AL m3
KET T
EEE L0
bz 3t 1% b cf1Y] m3 18.9 20
RER=#EL m3 21.9 20
b F m3 2.9 3
T == m3 BEE/1.2
IS 2R ER xR m3 BEE/1.2
&t m3 43.6 40
o U HR m3 2.35t/m3
KEBBREKE
KEBH =] 3.3 3
RBFEES 10.0 10




=
T = B 4
I & & A #M B E£B BHi FEIR #T HUDIE T BrinEt+E B o EHiE
+T
HIR+T 8.4
g+T B+ CGSE m3 80 1.9 9.9 0.9 8.9
BIR+T ,
B+T %At B m3 0.5 0.0 0.5 0.5 €
HE#T
IRYE HIET 8.6
E+T B+ EGSE m3 185 1.0 195 0.9 17.6 >
HBRL
#AL  Fu m3 9.0 9.0 9.0
HEEE K  m2 5.7 5.7
Y+%R SL | m2 200 20.0
BtER SL m2 0.0 0.0
1EERTNIET
17.0
e+ m3 18.9 0.9 17.0 —0
At LR E m3 18.9
aVEEL m3




++ I M E KR
0
+ I EEER (e Janunl
aERRUAMR| IR iR mt QvERE g et i R AERE
1=:K [v] m m3 m3 m3 m2 m2 m3 m3 m?2
TT 9.5 8.0 0.5 20.0
1EE+T 18.5 9.0 5.7
it 9.5 8.0 0.5 0.0 20.0 0.0 18.5 9.0 5.7




E x T T it B O
I
A =y Bt C *+ ¥ i il *+ ¥ i il i
(AEEFR]
SECT 0.0 - 1.1
SECT 6.0 6.0 0.5 0.80 4.8
SECT 9.5 3.5 1.3 0.90 3.2
a & 9.5 8.0




S ) T+ T it B'E OE
B T

p: | =Nl B B F ¥ 3T & oo ¥ 3T & &
[AZFR)
SECT 0.0 - 0.0
SECT 6.0 6.0 0.1 0.05 0.3
SECT 9.5 3.5 0.0 0.05 0.2

& i 9.5 0.5




it % &~ T it B &

A

=
YL iEmER B EmERY
A =y Bt L T ¥ ¥ il * ¥ ¥ &
(AEEFR]

SECT 0.0 - 2.2

SECT 6.0 6.0 2.0 2.10 12.6

SECT 9.5 3.5 2.2 2.10 1.4

= 9.5 20.0




EETA) #H=E & i X
avoy—kJOyyiEEEE
Z2 MRk U B A LE Javy E Uy Kim LT 7Ny EEET R LRHLEA
% % 0. 35m RC-40 EmAL 1:0.4, t=0.50m £=10mm
By m m2 m3 m m m2
= 8.9 15.9 8.0 8.9 8.9 15.9
it 8.9 15.9 8.0 8.9 8.9 15.9




EEIQ M E KX
/IO 1ET (H<B. 0) MOLET (3. 0=H<5. 0)
5 R U B B
INEY et INEY et
=2K v m3 m2 m2 m3 m?2 m?2
15/hA1T 0.3 0.5 3.6 0.6
28/ A1 T 0.3 0.5 3.4 0.6
Hi 0.6 1.0 7.0 1.1




i O® x XTI i B &
B (MEL) BREL EEEE
B R ik E 1y IR Fu 15 IR K 15 Fi5
QELD!
SECT 0.0 - 1.9 0.9 0.6
SECT 6.0 6.0 20 19 1.7 10 09 57 06 060 3.6
SECT 9.5 35 19 195 68 09 095 33 06 060 21
& % 9.5 18.5 9.0 5.1




E = Jovy VBRI it B

aYvy)—+r7JayoiE0:0.4) RARA
A R BB w SL T By i} Gv e ¥y 3L
(A FT)
SECT 0.3 - 1.8 0.9
SECT 6.0 5.7 1.8 1.80 10.3 0.9 0.90
SECT 9.2 3.2 1.7 1.75 5.6 0.9 0.90
a8 & 8.9 15.9




Gl

it B

avyl)—+h

700

ock=18N/mm2 \

ST [~

— -

§350
S

7

Xigarvy)—k

s/
/ f/

IVED)
E A #H =
-} 0.95 m3
B 3.52 m
Ko M 2 i E
% b RO g = E R 1ImHzYHE H =
L 8.9
[Xima ]
a4 ) — b+ | ock=18N/mm2 8.9 0.95 0.85 m3
£l B —-NE 8.9 3.52 3.13 m2




s
il

it B

HET HVED)

& Al B =

avyy-p 0.83 m3

B OB 3.50 m2

B 6.30 m2

HBET M = f E
% b % - = E E 1m3HVYHE WM =
8.9

[E# T
a4 1) — b | ock=18N/mm2 8.9 0.83 0.74 m3
# B —hR - pE 8.9 3.50 3.12 m2
H B #f |RC-40, t=100mm 8.9 6. 30 5.61 m2




MhOWT

Gl

it B

15/hALT

(SECTO. 0)

H=2.15

300

1800

2150

1800

2150

350

A = 1/2x (0. 700+0. 880) x 1. 800+1/2 x (0. 980+0. 875) x0. 350 = 1.747

why-+

B (—) A=1.747x2+0.350%0. 30 = 3.60

V =1.747%0.30 = 0.52

BH(fE) A =1.939%0.30 = 0.58

25/hALET
(SECT9.5) H=2.06

1710

2060

1710

2060

1

350

A =1/2x (0.700+0. 871) x1.710+1/2 x (0.971+0. 866) x 0. 350 = 1. 665

9=tV =1.665%0.30 = 0.50
B (—) A=1.665x2+0.350x0.30 = 3.44

B (L) A =1.842x0.30 = 0.55

MOET #H 2 & HE
% G S 1 = E R mHYBE H E
QE=; SECT 0.0 H= 2. 15m
vy 1) — bk ock=18N/mm2 HEER & Y 0.52 m3
£ e MBS HBEREY 3. 60 m2
%  HBERKY 0.58 m2
(25] SECT 9.5 | H= 2. 06m
a9 1) — bk  ock=18N/mm2 #EER & Y 0.50 m3
B B NBE BERKY 3. 44 m2
£ % HBERKY 0. 55 m2




T (BE - 1818 ME KRR
I YUMIFT EELT
s - At 70w T& (2 35cm) ZFEL
'R U R B 77 Am- il Bt iR
HENR $0.35 TiE VR - RZ
::E v m?2 m?2 m3 m?2 m3 m3 m3
%78 4.7 0.0 0.0
B= 0.0
T 1.9 0.0 1.0
B 4.7 0.0 0.0 0.0 1.9 0.0 1.0




MT (WX - EI18) #w E F E

12/MOLET 787 HEE 28/NOLT
L=0. 3m L=8.9m L=0. 3m
1.6 5.70 ‘ 3.20 1.5
EL=16. 41 EL=16. 38
— — EL=16.37
BEEEEY Xy
#ERA0:0.93) = SnwoiE = = | TYUH -
DL=15.000 % % L, ST (fig,) 8| Wm0
FKAE
EL=15.31 H AR EL=15. 34 50 \ EL=15.36
18/01T Joy AR 22/ AT
H=2. 15m H=0. 25m H=2. 06m
T (= - EI8) B E B E
2 Lo pSI g =X B E
FYUMITT
=] & HEH0.35 A=1/2x (0.5+1.6) x2.2x1.077+1/2x (0.5+1.5) x2.1x1.077 4.7m2
J By Y f $#EZ35em m2
& 1] T m2
BET
Ja vy v & $#x35cm V=0.0x0.35 0.0m3
T

# H © 1/2%x1.1x1.6+1/2x1.3%x1.5= 1.9m3
® £ (B m3
K # (B 1/2%1.9%0.5+1/2x1.9%0. 5= 1.0m3




REXT #H = £ i X

REEEE Bt4a4T  (REEE siRaA T YT KEBH KETL

&R U R Bt FRpR| 1500x3000(m)  HEE AELDS EhEET

h=0. 50m t=10cm t=22mm Y E TEKX R ¢ 300
By m3 m3 ® t % £ m = AT
RE% 21.9 2.9 3.3 —

B 21.9 2.9 0 0.00 0 0.0 3.3 0.0
0
[hEs#tAnsy] 1.0m3/1.20 (15824 1)
=0.0x (1.0/1.20)= 0.0




BRI (TEAER) =2 H E
mtaAT
4.00
0. 50 3.00 0.50  #yppF
(t=10cm)
5
 mtw EL
B
| 5.00 | B=2.25(m2)
RBIT (TEEER) # = i E
TR ) = Z E P
L= 9.5
{I$Fﬁ:‘i§
T 2.25%9. b= 21.4 m3

il F t=100mm 3.0x0.1x9.5= 2.9m3




REZT (OKEI) HWETEE
KEBHHRH=E
JOov ot
BIEE L= 8.9m 10mY Y
HEpET whY-b V= 0.7 m3 0.83 m3
B A= 3.1m2 3.50 m2
HEM A= 5.6 m2 6. 30 m2
xR BT BANE H= 0.7m
EWIKEL h= 0.3m
#EaEe 1:0.4 = 1.077
A= (0.7+0.3+0.3) x1.077x8.90 =
= 12.5m2
IOET 2 H
BB X
/]
s/ /]
o S / /]
(9] .
v LWL = / / /%
LA YN /] ] =
= ./ /] %H
i N TR E
I i@ R E g ® H# EEEES
IUhY-pELEE 0.7 0.7/ 5.0= 0.1 5 m3 /H
EELE 3.1 3.1/ 15.0= 0.2 15 m2 /B
M 5.6 5.6 / 155.0= 0.0 155 m2 /8
7' 0yh¥E 12.5 12.5 / 13.0= 1.0 13 m2 /B
NAlET 2.0 2.0/ 1.0= 2.0 1 &Ffr /H
&5t 3.3




XEFES

I ZHE g B3 THREMEES

Al INRAR- 7D 8.0 / 317 0.22 27.9+2.0 37m3|/H
Bt 2.5mBLTF IMRIE(100m3LLT) 05 / 43 0.01 43m3|/H
EREER Ut et 20.0 / 140 0.14 140 m3|/H

Bt / 140 - 140 m3|/H
ER1E T INRAE 18.5 / 32 0.58 |39.1+0.5 32 m3|/H
R INRAE 9.0 / 61 0.15 61 m3|/H
Jov)ia REREH 15.9 / 42 0.38 42 m3|/H
A -RARR RE 8.0 / 50.0 0.16 50.0 m3//H
El5A - hEE R / 50.0 - 50.0 m3|/H
LB EH R E £\ 15.9 / 500 0.03 500 m2|/H
HE#Earo)—k BmaEs 0.7 /31 0.20 3.7m3/H
Xy Co 0.9 /34 0.25 3.4m3//H8
NOET KEZ 2 /1 2.00 1 & /8
EpEE avyy—k /16 - 1.6 m3//H
waHE 4.8 /19 0.25 19m2//8
Joviia BE /13 - 13m2|/H
EA-RARR FE1 &0 - #%1E /200 - 20.0 m3|//H
WEET RS / 222 - 222 m2|/H
HMET xE / 250 - 250 m2|/H
" B A / 230 - 230 m2|/H
X E#R RiE / 1000 - 1000 m|/H
H—FL—JL CO%iE / 40 - 40m|/H
" COo#iEk / 200 - 200m|/H
" THERE /130 - 130 m|/H
" ToiEE / 250 - 250 m|/H
SRR BT / 230 - 230 m|/H
SHEMREEL / 260 - 260 m2|/H
Jov iERUEL / 20 - 20 m2|/H
avy)—hrERL - /19 - 19m3|/H
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At LR E m3 11.0
aVEEL m3 0.6 0.6




t T o I
r I EER (= u
aERRUAMR| IR 1R et SVEE Yt wt i 2%  BEEE
B m m3 m3 m3 m2 m2 m3 m3 m2
T 6.4 5.9 3.3 0.6 13.2
FXLT 1.1 0.9 1.1
&t 6.4 9.9 3.3 0.6 13.2 0.0 1.1 0.9 1.1




E x T T it B O
I
A =y Bt C *+ ¥ i il *+ ¥ i il i
(AEEFR]
SECT 0.0 - 1.0
SECT 6.0 6.0 0.3 0.65 3.9
SECT 9.0 3.0 1.0 0.65 2.0
a & 9.0 5.9




S ) T+ T it B'E OE
B T

p: | =Nl B B F ¥ 3T & oo ¥ 3T & &
[AZFR)
SECT 0.0 - 0.2
SECT 6.0 6.0 0.6 0.40 2.4
SECT 9.0 3.0 0.0 0.30 0.9

& i 9.0 3.3




it OE = + T it E £
avyy—krEREL

A & P B CB T ¥ ¥ B T O T B
[ARRr]
SECT 0.0 - 0.1

3.4 0.1 0.10 0.3

SECT 6.0 0.1
SECT 9.0 3.0 0.1 0.10 0.3

& 6.4 0.6




it % &~ T it B &

A

=
YL iEmER B EmERY
A =y Bt L T ¥ ¥ il * ¥ ¥ &
(AEEFR]
SECT 0.0 - 1.7
SECT 6.0 6.0 1.0 1.35 8.1
SECT 9.0 3.0 2.4 1.70 5.1

& 9.0 13.2
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EETA) #H=E & i X
oV )—rTAay o iEHER EIRYar o —k avs—rER#EIR
Z2 MRk U B A EE Jawvy RARR Xim T T7OvhERT WRELEM a2 U—b+ arsU—MRER
% % 0. 35m RC-40 EmAL 1:0.4, t=0.50m t=10mm t=15cm
By m m2 m3 m m m2 m3 m2
= 8.4 13.3 6.3 8.4 8.4 13.3 2.6 0.9
it 8.4 13.3 6.3 8.4 8.4 13.3 2.6 0.9
0.9x0.15
0.1 m3




EEIQ M E KX
/IO 1ET (H<B. 0) MOLET (3. 0=H<5. 0)
5 R U B B
INEY et INEY et
=2K v m3 m2 m2 m3 m?2 m?2
15/hA1T 0.3 0.4 3.0 0.5
28/ A1 T 0.3 0.6 3.9 0.6
Hi 0.6 1.0 6.9 1.1




i O® x XTI i B &
B (MEL) BREL EEEE

B R ik E 1y IR Fu 15 IR K 15 Fi5

QELD!
SECT 0.0 - 07 0.1 0.8
SECT 6.0 60 09 08 48 01 010 06 08 08 48
SECT 9.0 30 10 09 29 01 010 03 11 095 2.9

& % 9.0 7.7 0.9 7.7




= 3 N =3 =
S K JAavyoEL S
avoy—rJOoyv o E0:0.4) ZABA

Al = BB B SL E ¥ F & Gv F ¥ 3T & %

(AR
SECT 0.3 - 1.5 0.7
SECT 6.0 5.7 1.5 1.50 8.6 0.7 0.70 4.0
SECT 8.7 2.1 2.0 1.75 4.7 1.0 0.85 2.3

& § 8.4 13.3 6.3




Gl

it B

avo1)—+
o ck=18N/mm2

KoL y—k  1mHyY
B Al % B
avyy-+ 0.73 m3
BB 3.38 m2
Kk # = i E
£ b WO% g = E K mZVHE #H =
8.4
[(Xiga 2]
Sv 5=k ooke18N/m2 8.4 0.73 0.61 m3
Y B —f - R 8.4 3.38 2.84 m2




it B

Gl

HET 10m% L)
& Al B =
- 0.83 m3
CIL I ] 3.50 m2
EHERL 6.30 m2
HBET M = f E
% b R O® g = E R 1ImHzYHE H =
L= 8.4
[E# T
a4 ) — b+ | ock=18N/mm2 8.4 0.83 0.70 m3
£l B —-NE 8.4 3.50 2.94 m2
HxO®

#t RC-40, t=100mm 8.4 6. 30 5.29 m2
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B A B B C0 ¥ # ¥ W & E i 3 i#
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SECT 0.0 - 0.2
SECT 6.0 6.0 0.3 0.25 1.5
SECT 9.0 3.0 0.4 0.35 1.1
& % 9.0 2.6




it E K aVvo)—rREIR B OE
avy)— MREIR
Al m BB B co F ¥ 3T & Gv F ¥ 3T %
[A&FR)

SECT 0.0
SECT 6.0 0.3
SECT 9.0 3.0 0.3 0.30 0.9

& § 3.0 0.9




NALET M E B B
18/hA1LT 25/hO1ET
(SECT0.0) H=1.83 (SECT9.0) H=2.33
469
700 300 300
N g
sl 8/ o / S g ‘
o < ~ < g o
2 7 /10 / s/ S s 8 g s
843 o ] '3
893
A = 1/2x (0.700+0. 848) x 1. 480 A = 1/2 (0. 377+0. 469) x 0. 230+1/2 x (0. 723+0. 898) x 1. 75
+1/2% (0.948+0. 843) x0.350 = 1.459 +1/2% (0.998+0. 893) x 0. 350 = 1.847
WI-b V= 1.459%0.30 = 0,44 W9-b V= 1.847x0.30 = 0.55
BIH(—) A= 1.450x2+0.350%0.30 = 3.02 B (—) A = 1.847x 2+ (0. 350+0. 230) x0.30 = 3.87
B (k) A = 1.504x0.30 = 0,48 B (L) A =2 132x0.30 = 0.64
e ==
MNawET =2 S HE
% b R O® - = E E 1m3HVYHE WM =
[15] SECT 0.0 H= 1.83m
a4 ) — bk | ock=18N/mm2 #EER &L U 0.44 m3
pid # N BERLY 3.02 m2
it % BERKLY 0.48 m2
(23] SECT 9.0 H= 2.33m
a4 1) — b | ock=18N/mm2 #EER & Y 0.55 m3
pid % I B BERLY 3.87 m2

£ ¥ BERKY 0. 64 m2




T (BE - 1818 ME KRR
I YUMIFT EELT
s - At 70w T& (2 35cm) ZFEL
'R U R B 77 Am- il Bt iR
HENR $0.35 TiE VR - RZ
::E v m?2 m?2 m3 m?2 m3 m3 m3
%78 4.6 0.0 0.0
B= 0.0
T 1.6 0.0 0.4
B 4.6 0.0 0.0 0.0 1.6 0.0 0.4




MT (WX - EI18) # it B

il

avy)— hRHEIR
L=3. Om
EERYaSU—t L[39.0m

1ShgLT JoyoikEs 28/ O1kT
L=0. 30m L=8. 4m L=0. 30m
1.4 5.70 2.70 1.7

SECT0.0
SECT6.0
SECT9.0

3.0 5 avyY)— REIR

0. 3m
m

(t=0. 15m)
_ 3V YU—HMREE _ < =1 avy ) — hiREE
I——1 T j
2 2 2 2
(&) [} (&) [}
0’7/‘401/43-‘ EL=46. 68
2 S T
n ERYaVH ) —b n EL=46.07 S
o o o _
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o| BFHEEY
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EL=44.47 /2
= p 25/h0OET
2R . H=2. 33m
H=0. 25m
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I (8= - 1EIR) M E 8 E
P ™ % = =
TYRITT
=) B OME|F0.35 A=1/2x (0.5+1.4) x1.8x1.077+1/2x (0.5+1.7) x2.3x1.077 4.6 m2
J oy Y & $#z35cm m2
% m@m I m2
HWMET
J o v Y # #x3%em V=0.0x0.35 0.0 m3
T
2 Hl ©) 1/2x1.0%x1.4+1/2%x1.0x1. 7= 1.6 m3
> 2 N (2) m3
K # ©® 1/2x0.7%0.5+1/2x1.0%0. 5= 0.4 m3




RE&T #H =% 5 X
REEEE Bt4a4T  (REEE siRaA T WY T KEBH KET
4 ﬁ'\& U*Z;ﬂl],_q gi %&@*u 1500 % 3000 (mm) %&E% KE+ D —3 ﬁ}ﬁ@l
h=0. 50m t=10cm t=22mm Uy E TEKX R ¢ 300
By m3 m3 1 t . s m H L
RE% 30.4 4.0 1.0 2.0 65.7 3.9 1.0
B 30.4 4.0 0 0.00 1 65. 7 3.9 1.0
3
[hEE#tan43] 1.0m3/1.20 (14824 1))
=3.0x (1.0/1.20)= 2.5
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0.50 3.00 0.50  sFbF|
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5
2%+ # z
5.00 B=2. 25 (m2)
RBIT (TEEER) # = i E
2 W R 5 = Z B Pr——
HERBRER 1:0.67 [=19.7x0.67= 13.2
(TEFmEK)
% et 2.25%x13. 2= 29.7m3
4.0 m3

B ® A t=100mm 3.0x0.1x13.2=
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KEEDIHE =
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= H
= K
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=
B
/ s
BEEDIFL
BIHER L=50. 7m
AT ERE (B3R W=1. 00m (SECT 50.7)
KELE H=0. 20m
AE+D ST (0.2+0.3) x1.0x1/(1.08%1.10)= 0. 4 1.0 =
BMET 50.7+(1.0+2.0) x5= 65.7 m
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RE&ET OKBEI) METFEE
KEBHREHE
JovyyiE
WIEE L= 8.4m NED)
HMT WhY-p V= 0.7 m3 0.83 m3
B A= 2.9 m2 3.50 m2
HEBEH A= 5.3 m2 6. 30 m2
xR EFT BANS H= 0.7m
FEHKEL h= 0.3m
o 1:0.4 flE 1.077
A= (0.7+0.3+0.3) x 1.077x8.40 =
= 11.8 m2
EERVY-h 2.6 m3
IOET 2 H
i
/ /]
s/ /]
S 3 / /]
=S / /]«
=T N /)] &
= ./ /] #H
i v |j\/ / Y 8
I i& SNRHE g K H# BEAEXE
Y- ELERE 0.7 0.7 / 5.0= 0.1 5m3 /H
R 42 2.9 2.9 / 15.0= 0.2 15 m2 /H
HREH 5.3 5.3 / 155.0= 0.0 155 m2 /8
7' nyhiE 11.8 11.8 / 13.0= 0.9 13 m2 /H
BRI~} 2.6 2.6 / 4.0= 0.7 4 m3 /B
hOkT 2.0 2.0/ 1.0= 2.0 1 &Ffr /H
&t 3.9
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EEER
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BEUREL
BEYERELT
aYvy)—rEIRL m3 1.8 2
8-JOvoET
EELT
PRI Myt m3 23.8 20
HREL mAL m3 9.6 10
HEEF m2 8.0 8
avyy—rJovoiE
X#JOvyy  150%
Jay o E#E 2 75cm m2 24.7 2511:0.3
EARR RC-40 m3 13.9 14
K T EEEL m 1.4 7
7oy ERT %f\?tﬁng —F m 7.4 7
et LBAIEAS t=10mm m2 0
MOk T
3.0=H<5.0 [a>y Y— 1k /MEY 18N/mm2 m3 3.1 3N=2
iy — g - B m2 20.7 21
i3 m2 2.1 2
I
T
iz | m3 8.2 8
PR m3 1.5 2
|zl
AEGFYREI)
#ZE|H35cm m2 12.2 12
RE& T
RERER EE m 1.5
e e )
Bt BAL m3 25.9 30
B F t=10cm m3 3.5 4
R T
KET T 1.0 1




HE B E R (202)
&) )N (Fa=ta) [(BERT)
IERS I & B WA P - _
L AL LAJL2 LAIL3 LAJL4 LAJLS RARRHM FERE R OB
EEE L0
bz 3t 1% b cf1Y] m3 49.9 50
RER#EL m3 25.9 30
b F m3 3.5 4
ISRREERE  N=T m3 58 6|2t /1.2
&t m3 85.1 90
avoY—bERIEEL m3 1.8 212.35t/m3
KEBBREKE
KEBH =] 3.5 4
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I & & A #M B E£B BHi FEIR #T HUDIE T BrinEt+E B o EHiE
+T
EBT 31.7
g+T B+ CGSE m3 27.0 8.2 35.2 0.9 31.7
BIR+T ,
B+T %At B m3 0.0 0.0 0.0 0.0
HE#T
IRYE HIET 13.2
EE+T BB+ EGSE m3 238 1.5 25.3 0.9 22.8 >
HBRL
#AL  Fu m3 9.6 9.6 9.6
HEEE K m2 8.0 8.0
Y+%R SL | m2  31.0 31.0
BtER SL m2 0.0 0.0
1EERTNIET
44.9
e+ m3 49.9 0.9 449 «— |
At LR E m3 49 9
aVEEL m3 1.8 1.8
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r I EER (= u
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B m m3 m3 m3 m2 m2 m3 m3 m2
T 8.0 21.0 0.0 1.8 31.0
FXLT 23.8 9.6 8.0
&t 8.0 21.0 0.0 1.8 31.0 0.0 23.8 9.6 8.0
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SECT 22.8 - 3.4
SECT 26.8 4.0 3.4 3.40 13.6
SECT 30.8 4.0 3.3 3.35 13. 4

& i 8.0 27.0
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avyy—krEREL
B A B B CoB ) i
[B&iFr]
SECT 22.8 - 0.2
SECT 26.8 4.0 0.2 0.20 0.8
SECT 30.8 4.0 0.3  0.25 1.0
& 8.0 1.8
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SECT 22.8 - 4.3

SECT 26.8 4.0 3.8 4.05 16. 2
SECT 30.8 4.0 3.6 3.70 14.8

= 8.0 31.0




EETA) #H=E & i X
RKETOwH (1508))
Z2 MRk U B A LE Javy E Uy Kim LT 7Ny EEET R LRHLEA
£ %0. 75m RC-40 EmAL 1:0.4, t=0.50m £=10mm
By m m2 m3 m m m2
= 1.4 24.7 13.9 1.4 1.4 24.7
it 1.4 24.7 13.9 1.4 1.4 24.7




EEI (2 ME KX
/A LET (H<S. 0) IAIET 3. 0=H<5.0)
e i B B
%ﬁ&l}‘lﬂ“ :ﬁ\ EE :|~/7U_I\ T :|~/7U_I‘ T
INEY [ 7: IhEY 1t
1=:K [v] m3 m2 m2 m3 m?2 m?2
3&/hAO1ET 0.3 1.7 11.3 1.2
A5/hO1ET 0.3 1.4 9.3 1.0
it 0.6 0.0 0.0 0.0 3.1 20.7 2.1




i O® x XTI i B &
B (MEL) BREL EEEE
B R ik E 1y IR Fu 15 i K 15 Fi5
(B R
SECT 22.8 - 32 1.2 1.0
SECT 26.8 40 29 305 122 12 1.2 48 1.0 100 4.0
SECT30.8 40 29 290 116 1.2 120 48 1.0 100 4.0
& % 8.0 2.8 9.6 8.0




= y N = =
S ) K JOvYEL S = -
KETJTOwy4 (1508) AR
p: | J=N: ] [ SL I ¥ FE v Gv I ¥ ir & 1%
GiERD)
SECT 23.1 - 3.8 2.2
SECT 26.8 3.7 3.2 3.50 13.0 1.8 2.00 1.4
SECT 30.5 3.7 3.1 3.15 11.7 1.7 1.75 6.5
= 1.4 24.7 13.9




Kiga > =2 H E
3 B
1096
s ]
Nl
S /
= <
/ s/
EHavsU—F  10n%Y
& T
vh)-p 1.94 m3
BB 4.31 m2
Kk # = i E
£ b WO% g = E K mZVHE #H =
= 7.4
[(Xiga 2]
29U Y=k ook=18N/mm2 7.4 1.94 1.44 m3
® B g NE 7.4 431 3.19 m2




HBET B E B
2 5
avoy—4 0
o ck=18N/mm2 .T %
= /
ol 1)
Sy | N
10 780 M\ R
980
HigT HUED)
& Al B =2
-+ 2.32 m3
B 5.50 m2
ELHERL 9.80 m2
HBET M = f E
% b R O® - = E E 1m3HVYHE WM =
L= 1.4
[E#T])
av4 ) — L+ | ock=18N/mm2 1.4 2.32 1.72 m3
Eil) B | —Rg - B 7.4 5.50 4.07 m2
H B #f |RC-40, t=100mm 1.4 9.80 71.25 m2




NOWET M = =}
38/NOLET 45/hAET
(SECT22.8) H=4.26 (SECT30.8) H=3.58
1096 300 1096 300
[~ I~
A= 1/2x (1.096+1.467) x3.710 A =1/2x (1.096+1.399) x3.030
+1/2x (1.56741.457) x0.550 = 5.586 +1/2x (1.499+41.389) x0.550 = 4.574
Y-+ V =5.586%0.30 = 1.68 avyy- V =4.574%x0.30 = 1.37
BH(—) A=5586%x2+0.550%0.30 = 11.34 (=) A=4.574x2+0.550%0.30 = 9.31
BH({k) A=23.873%0.30=1.16 BH(E) A =3.163x0.30 = 0.95
IOLET 2 it &
% b R O® g = E R 1ImHzYHE H =
[3& SECT 22.8 H= 4. 26m
ayvy1)—k | ock=18N/mm2 {E&ER &L V 1.68 m3
pid # N BERLY 11.34 m2
it % BERKLY 1.16 m2
[43] SECT 30.8 | H= 3.58m
av4s)—k ock=18N/mm2 #EER LY 1.37 m3
pid % I B BERLY 9.31 m2
It # H#BEXKLY 0.95 m2




T (BE - 1818 ME KRR
J YT EELT
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HENR $0.35 TiE VR - RZ
::E v m?2 m?2 m3 m?2 m3 m3 m3
%78 12.2 0.0 0.0
B= 0.0
T 8.2 0.0 1.5
B 12.2 0.0 0.0 0.0 8.2 0.0 1.5
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itoE

3Z/phELET REIOy Y HEEE 45/hAtET
L=0. 301 L=7. 4m L=0. 30m
2.6 3.70 ‘ 3.70 2.3
3V — MRERE
o UL S X R—
T T I
Fledg. 48 OEfEaL s U—b o S g 4
EL=48. 24 —
{ Kigarvs)—+t
B &Y FYRT | |D ) & El | FyuRT
HEH(1:0.2) wEm || TARIOVIE ¢ 7| | wEm BEEHiE T
» EE 7 %) » % #AEEA:0.2)
3 o |e S owmrm S & s
L b A
Sy L 1
A = g*ﬂé EL=46. 01
EL=45.60 geﬂi EL=45. 81 0
-5 42NOLET
3B/MAIET 2EJn v R H=3. 58m
H=4. 26m H=0. 45m
MT (BE - #EI1R) # E F &
£ E1 RO = = # =2
FYHITT
a & | MEIH0.35 A=1/2% (0.5+42.6) x4.3x1.044+1/2 % (0.5+2.3) x3.6x1.044 12.2 m2
Jnow 5 % $#x35cm m2
& i1 I m2
BET
Jnow - % #$#x3bcm V=0.0x0.35 0.0m3
T
2 Al (C) 1/2x3.4%x2.6+1/2%x3.3x2.3= 8.2m3
. o (B) m3
K 1B (E) 1/2%3.2%0.5+1/2%2.9%0. 5= 1.5m3




RE&T #H =% 5 X
REEEE Bt4a4T  (REEE siRaA T WY T KEBH KET
4 ﬁ'\& U*I;ﬂl]ﬁ gi %&@*” 1500 % 3000 (mm) %&E% KE+ D —3 EWEI
h=0_50m t=10cm t=22mm WY E kxR ¢ 300
B m3 m3 1 t . % m = 25 T
RE% 26.5 3.5 3.5 1.0
B 26.5 3.5 0 0.00 0 0.0 3.5 1.0
0
[hEE#tan43] 1.0m3/1.20 (14824 1))
=0.0x (1.0/1.20)= 0.0




BRI (ITERER) M E B B
Bra47
4.00
0. 50 3. 00 0.50  sFEbF|
(t=10cm)
5
] I
| 5.00 | B=2.25(m2)
KRBT (TERER) B = H E
% WO\ S =t T & ¥ &
11.5
[TE=RERK]
% T 2.25%x11.5= 25.9 m3
-4 W F t=100mm 3.0x0.1x11.5=

3.5m3




Regs T (KE8I) MEFEE
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Jov ot
MIERE L= 7.4m 10m v
HEET WHY-b V= 1.7m3 2.32 m3
B A= 4.1 m2 5.50 m2
BEEM A= 7.3 m2 9.80 m2
X R E AT BANS H= 0.7m
EHKE h= 0.3m
EFaE 1:0.3 =R 1. 044
A= (0.7+0.3+0.3) x1.044x7.40 =
= 10.0 m2
ERIVY-+ 0.0 m3
INOLET 2 E
BERE R
/ /]
s/ /]
o 2 / /]
=S / ]/ w
i N /)] &=
= ./ /] #sH
—i \ N / 18
I j& SHREE g R H# BEEXE
)b ELEE 1.7 1.7 / 5.0= 0.3 5 m3 /H
EE 4.1 4.1 / 15.0= 0.3 15 m2 /B
M 1.3 7.3 / 155.0= 0.1 155 m2 /H
7 nyhE 10.0 10.0 / 13.0= 0.8 13 m2 /H
JEsRIVYY-b 0.0 0.0/ 4.0= 0.0 4 m3 /H
MhOtkET 2.0 2.0 / 1.0= 2.0 1 &Ffr /B
&t 3.5
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EEER
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HREL mAL m3 4.0 4
HEMEEIE m2 3.4 3
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EARR RC-40 m3 1.2 7
K T SREEL m 5.1 5
7 ny)EEET %l\?tﬁng_ " m 5.1 5
Wi LBAIE#  t=10mm m2 0
MNAIET
3.0=H<5.0 [avy Y— 1k /MEY 18N/mm2 m3 1.6 2|N=2
iy — g - B m2 10.8 11
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